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PUNJAB EXAMINATION COMMISSION 
EXAMINATION 2017, GRADE 5 

MATHEMATICS PART – A (Objective Type)  

   Part-A = 50 Marks, Part-B = 50 Marks, Total Marks = 100  
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For Official Use Only 

General Instructions:                                        �������	
�   

1) Read carefully and attempt all questions.          �
���
��
����������������� �� 
 

2) Encircle the correct option of each MCQ as shown in the example below. � � ���� ��� �!�"�#�$�������%&����'�(��)�*�+�,-��.���/�0�1 234 �� 

Example: 12 × 4  =          �) 5  
  a) 3  b) 8  c) 16  d)  48 

 
3) Use black/blue ink for writing. Use of lead pencil is not allowed. �6�78����9�:���;<�
���������8=���>������?�/�@��AB��  �� 
4) If more than one option is encircled in a question, no mark will be given. 

 �� 2C��(�����D�E���� 1 23A�����1F3�#�G�0�1 23-��� ��� � E��;H��I�JB�1 23 �@�K� �� 
 

Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each 

question carries two marks. ��123�L 5(�M�N��O  )25 (�P�Q�R ������%&���'���������� ���  ��P�K  

 

Questions ���� Rough Work �����  
Q. No.1. 52431 + 4053 = 

a) 92961 b) 56484 c) 48378 d) 11901 

Q. No.2. 50332 – 1521  = 

a) 59701 b) 51211 c) 48811 d) 35118 

 

 

Total Marks: 50 Part-A (Multiple Choice Questions) Total Time: 1 hour 

 
Model Paper 

Version 2 

Res
ult

.p
k

A-PDF Watermark DEMO: Purchase from www.A-PDF.com to remove the watermark

http://www.result.pk
http://www.a-pdf.com/?wm-demo


Grade-5, Mathematics, Part-A Model Paper, Version-2 Page 2 of 4 

Questions ���� Rough Work �����  
Q. No.3. 43061 × 100 = 

a) 430710 b) 4306100 c) 43061000  d) 43006100  

Q. No.4. 3× (15 − 2) = 

   a) 39  b) 43  c) 47  d) 51 

Q. No.5. L.C.M of 6, 18, and 36 is: 

������������	�  ������ ����	
��  

a) 6  b) 9   c) 18  d) 36 

Q. No.6. H.C.F of 12, 15 and 24 is: 

������ �����
 �������
���  

a) 3  b) 4  c) 6  d) 12 

Q. No.7. + =
2 1
3 9

 

a) 
1

3
  b) 

1

4
  c) 

1

9
  d) 

7

9  

Q. No.8. 
3 5
2 7
− =  

a)
2

7   
b)

3

7   
c)

1

14   
d) 

11

14
 

Q. No.9.  × =
11 8
2 99

 

  a) 
4
 
9

  b) 
9

4
  c) 

1

9
  d) 

1

18  

Q. No.10.  12.25 + 6.8 = 

a) 18.05  b) 18.17 c) 18.33 d) 19.05 

Q. No.11. 2.24 - 0.47 =   

 a) 1.77  b) 1.87  c) 2.61  d) 2.71  

Q. No.12. 1.6 × 0.9  = 

 a) 0.0144 b) 0.144 c) 1.44  d) 14.4 

Q. No.13. 1.96 ÷ 1.4  = 

a) 0.0014 b) 0.014 c) 0.14  d) 1.4 
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Questions ���� Rough Work �����  
Q. No.14. Length of a cricket bat is 0.98 metre while length of a hockey is 

1.43 metre. How much is a hockey longer than a cricket bat ? 

������������.098�������������� � ��.1 43����� � �� ��������
�� !�"�#����������  

 a) 0.45 metre � � ��   b) 0.69 metre  � � ��  

c) 1.59 metre � � ��  d) 1.69 metre  � � �� 

Q. No.15. 5 hours =                 5 �   = 

a) 120 minutes �  b) 180 minutes �  

c) 240 minutes �  d) 300 minutes � 

Q. No.16. 11 metres =                   ��   � � �� = 

a) 0.11 centimetres  � � � ���	 b) 1.1 centimetres    � � ���	 

c) 110 centimetres   � � ���	 d) 1100 centimetres � � ���	 

Q. No.17. If the price of one book is Rs.25 then the price of 5 such books 
is: �%���&'� �(��)�������*��+�,�-	.��������%���/0'  

 a) Rs.5 
��   b) Rs.20 
��   

 c) Rs.25 
��   d) Rs.125 
�� 
Q. No.18. If the price of 4 toys is Rs.120 then the price of one such toy is: 

�)�
��%���/12�������32� �(��4��+�,�-	.���%  

a) Rs.30 
��   b) Rs.116 
��   

c) Rs.124 
��   d) Rs.480 
�� 
Q. No.19. An angle of measure 280o is:             ���� 5 ,�6	�!���.�7�� ���o 

 a) obtuse �
�   b) reflex � ��   

 c) straight ���   d) acute ���� 
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Questions ���� Rough Work �����  
 

Q. No.20. Identify the straight angle among the following angles. 

  ��S���(�TU��A�Q�R �.�R��A���� V WX<�?�  

a)      b)  

 

 

c)        d)            

Q. No.21. If length of a rectangle is 8cm and breadth is 5cm, then its 

perimeter will be:    8�N��G�Y���Z[��YI��  ��	 �;�\]�
��  
�	 E���̂ 2C���;_�?   

a) 5cm   b) 8cm  c) 13cm d) 26cm 

Q. No.22. The given figure is a/an:                                 �`�a b /��� ������� ������ ������� �����������  

a) equilateral triangle  ����������	    

b) right angled triangle �
������
 ��� ����	  

c) obtuse angled triangle  �
 ����	��
����  

d) scalene triangle           	������ � 

Q. No.23. If the length of each side of a square is 2 metres then its 

perimeter will be:                      �E��;_�?�c�� �����de� 2C�f�Y�� g 2hG��N� 8�I�Y��Z[�  

a) 2 m  b) 4 m  c) 6 m  d) 8 m 

Q. No.24. Average of the numbers 8, 15 and 25 is:        � �i� j��klm��
��fm�?�/�n���  
a) 8  b) 15  c) 16  d) 25 

Q. No.25. The graph shows the marks obtained by Bilal in his annual 
examination. In which subject did he obtain maximum marks? �(���E��o��p�q��N���P�Q�J4 �K�� ��r[�(�st������ 1 23A��� Fu�v�K�wx�r[�(�sy�z  

 

a) Maths     ����� 
b) Science  �� 

c) Urdu        ���� 
d) English �� �!"� 
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